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Programme Name  : BBA

Pattern : Semester 2
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No. of Assignments : 2
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ASSIGNMENT -1

Max : 30 marks
Answer any one of the question not exceeding 1000 words

1. Explain the objectives of Business.
ouewsllaS S 6T ChrésniISmar allard@s.

2. Discuss the merits and demerits of plant location.
SemeV @) HLILIL GF6dT BedTewLoser, dewioser LmM afleurHlds.

3. Define joint hindu family. Difference between sole proprietorship and joint hindu family
firm.
Qg1 & B GODUSDS euwrwml. Hlpui aeflasnGn Gbs 6 GG
BIIITESN @G0 2 siter CoumiLiTisL & M),
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School of Management Studies

ASSIGNMENT
Programme Code No : 1161
Programme Name  : BBA
Pattern : Semester 2
Course Code & Name: BBAS — 21 & BUSINESS ORGANISATION
Batch : CY 2023

No. of Assignments : 2
Maximum CIA Marks : 30 ( Average of Total No. of Assignments)

ASSIGNMENT -2

Max: 30 marks
Answer any one of the question not exceeding 1000 words

1. Discuss the causes and types of business combination.
auenfls CFidbenddhdHTeT STTauIhIG6T LHMID aIensser LUDD aileurslss.
2. Explain the functions and role of stock exchange.
UBIGHF Fhengullest ClFweOLTHS6T LHMID LIBIGHSH6T allerddd.
3. Describe the needs and functions of the Chamber of Commerce.
auenfls ewwuwsdler Chemausmsst HMID GlFwsLLITH ST aileuflds.
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ASSIGNMENT
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Course Code & Name: BBAS — 22 & MANAGEMENT ACCOUNTING
Batch : AY 2022 - 2023
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ASSIGNMENT -1

Max : 30 marks

Answer any one of the question not exceeding 1000 words

1. Compare and contrast the Management Accounting VS Cost Accounting.

+O»0sg©U PnUQ™ A AguA»UPn® u P. +©»8sg©U PnUQ ViR £oPai AiUSP.

2. From the following particulars pertaining to assets and liabilities of a company calculate
1. current ratio 2. Liquid Ratio 3. Proprietary Ratio 4. Debt EquityRatio 5. Capital Gearing

Ratio.

Liabilities Amount (Rs.) Assets Amount (Rs.)

5000 Equity Shares of 5,00,000 | Land and Building 6,00,000

Rs.100 each

2000 8% Pref. Shares 2,00,000 | Plant and Machinery 5,00,000

of Rs.100 each

4000 9% Debentures 4,00,000 | Stock 2,40,000

of Rs.100 each

Reserves 3,00,000 | Debtors 2,00,000

Creditors 1,50,000 | Cash and Bank 55,000

Bank Overdraft 50,000 | Pre-paid Expenses 5,000
16,00,000 16,00,000

aRA. ® AAP[PIV4 ¢x (A) |h'! AQU® (B) 1°6© AQU® (C) 6uBUP AQU® PnUQKP :

1-

OUBUP® 10,000
PhUBIPO 40,000
\HuQ, ! 20,000

0£.E.©8. “mk 5,000




RTmi 6\¥%zv~ O\»A 2,000

PhU¢-+ud® 18,000
A[Q +©AAgLEDO 3,000
6\.E.©8. “mk 1,000
OUBUPO©BP ©6@0OUTi mgn [PO 4,000

3. Prepare Comparative Statement of Profit and Loss from the following Statement of Profit and
Loss:

31st 31st
Particulars Note | March, March,
No. 2019 2018
) )
[. Income
Revenue from Operations (Net Sales) 3,00,000 | 2,50,000
Il. Expenses
Cost of Materials Consumed 1,20,000 | 1,00,000
Changes in Inventories of WIP and
Finished Goods (2,000) 5,000
Employees Benefits Expenses (Wages) 30,000 25,000
Other Expenses 22,000 20,000
Total 1,70,000 | 1,50,000
1. Net Profit (I-I1) 1,30,000 [ 1,00,000

aRA.® C,{o» SO"IPI%. ¢x 6£6x C." {o» SO gL u & UP.

6£80™PO 31.12.20 31.12.21 6\6zxUPO 31.12.20 31.12.21

\. £[S «uA 4,00,000 5,00,000 {»® ©BZO®
£, «uA 1,50,000 1,00,000 Pmih® 3,00,000 2,70,000
OEOXPE™! 40,000 70,000 |@OE© 1,15,000 90,000
C»B£ |mh P/S 30,000 48,000 C ¢vu® 80,000 2,00,000
PhU¢+ude 45,000 73,000 PhUSIPO  1,60,000 2,00,000
£.£[P6US ® 42,000 50,000 \pUQ,"! 37,000 59,000
oV©8/ mk 20,000 16,000 6£/©8/*mk 10,000 20,000
gPe ! 25,000 18,000

7,27,000 8,57,000 7,27,000 8,57,000
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Answer any one of the question not exceeding 1000 words

1. Saurashtra Co. Ltd. wishes to arrange overdraft facilities with its bankers from the period
August to October 2010 when it will be manufacturing mostly for stock. Prepare a cash budget
for the above period from the following data given below:

Month Sales Purchases Wages Mfg. Exp. | Office | Selling Exp.
(Rs.) (Rs.) (Rs.) (Rs.) (ES'SO) (Rs.)

June 1,80,000 1,24,800 12,000 3,000 2,000 2,000

July 1,92,000 1,44,000 14,000 4,000 1,000 4,000

August 1,08,000 2,43,000 11,000 3,000 1,500 2,000

September | 1,74,000 2,46,000 12,000 4,500 2,000 5,000

October 1,26,000 2,68,000 15,000 5,000 2,500 4,000

November | 1,40,000 2,80,000 17,000 5,500 3,000 4,500

December | 1,60,000 3,00,000 18,000 6,000 3,000 5,000

Additional Information:
(a) Cash on hand 1-08-2010 Rs.25,000.

(b) 50% of credit sales are realized in the month following the sale and the remaining 50%
in the second month following. Creditors are paid in the month following the month of
purchase.

(c) Lag in payment of manufacturing expenses half month.

(d) Lag in payment of other expenses one month



mafer Bldblened Qaemrurer efleugmigar $Cp sriiu’(Hdrerer.

Qummliyser 1.1.201631.12.2016 QETSgIHSET 1.1.201631.12.2016

(em. "000) (. 7000)
wrHnFEL B Qeqsgens 15000  11,000Q5rés0 20,000 15,000
SL_aumeiaer 10,000 8,000
PPEOSETLD 99,000  84,000&75s, 4,000 7,000
&g LD 50,000 40,000

o Hlerewrer Qarsgissar
30,000 25,000

1,14,000 95,000 1,14,000 95,000

Fn(NFev el LITBIGET:

(=1) er(IyeT ergib @eenen
(<) Senswr Qarsglss6r aummbislILLa|b @), ellhslILLa|b @)dena
@&l mBg Crmrés gl L iflsamasemnit Swmtlss .

2. From the following information calculate: (a) P.V. Ratio (b) Fixed cost (c) Break Even sales
volume (d) Sales to earn a profit Rs. 3,000 (e) Profit when sales are Rs. 8,000.

Year Sales Rs. Profit Rs.
2020 10,000 2,000
2021 15,000 4,000

eraumid efleurrisefedlmbgl samsdl( (=) Georu eldsd (<) @eru BlLwnnn Lerefl (&)
urgisTiL UGS @rearr(h euHLmEisERs@ED (FF) edlhueer p. 2,80,000 erafléd @eru ojere] (2-)
@aoruben. 90,000 erefler Coenouwimer eSlHLme SHeT6y

QU(HLLD N Huene @emruid
W2 (.
2020 1,50,000 30,000
2021 2,00,000 50,000

3. Describe the classification of Budgets.

Sl iquied s HUUTL g 6T BETenLD&ET LoMMILD G DUIT(HEET WTenel? allemd:@s.
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ASSIGNMENT -1

Answer any one of the question not exceeding 1000 words

1. Describe the application of statistics in business.

2.

auenflagslev Lstafluilwsd LwesTuT enL alleufldss.

TAMIL NADU OPEN UNIVERSITY

Max : 30 marks

Calculate the Arithmetic Mean for the data set given in the following table:

8000 | 1000 | 1250 | 2150 | 2000
Salary in Rs. | 1100 | 1550 | 3150 | 2200 | 1500
Permonth  ['5200 | 1550 | 3150 | 1500 | 1200
1300 | 3000 | 1750 | 1000 | 1500

Lereupd L L ausmesnTulled

Frraflenwd HersSl(HS%.

earglwid ¢n. LTSSSH S

8000 | 1000

1250

2150

2000

1100 | 1550

3150

2200

1500

5200 | 1550

3150

1500

1200

1300 | 3000

1750

1000

1500

QarT@sasliul_(erer  &reysdh OGar@glitiDsrear seanfls



Calculate the standard deviation from the following data

Age 20-25 25-30 30-35 35-40 | 40-45 | 45-50
No. of Persons | 180 120 70 35 30 35
Ulsttaupid sreysafledlmbgl Sl L allvsensvd &erds (Hds.

auwg) 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
BLiGaAeT sTeTantliemas 180 120 70 35 30 35
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Answer any one of the question not exceeding 1000 words
1. Sigma Pvt.ltd. company gives the monthly salary to its employees based on their years of
experience. Calculate Karl Pearson’s Coefficient of correlation from the following data and

interprets its value:

Years of Experience 12 10 15 14 20 21
Salary (Rs. 000) 40 41 48 60 50 55

Aswr UewrGeaul OAGL L. plpjeuerd sewrg oampluiisehdhd auisaflsst Lv o ewrH
S|WILIUGS6T g LiLiewL_uiled T 2agluishens aupBIGHSIng). LlsiTauhid Hreyseafledhbal & misv

LwirFesflest 2 1L 61 G1GTLTL 6% (eWeud HTHEIL (B BT FHILIHL ail6rTd@Hdb:

Sy T(D) SfeILIULD 12 | 10 | 15 | 14 | 20 | 21
FivLiertd (er5. 000) 40 | 41 | 48 | 60 | 50 | 55

2. Construct the index number of prices from the following data by applying
1. Laspeyre’s method 2. Paache’s Method 3. Fisher's method

4. Bowley’s Method 5. Marshall edge worth method



Commaodity 2021 2022
Price | Quantity | Price | Quantity

2 6 2 4
B 5 8 7 4
C 6 10 20 16

Ulstteu o sreyseafledmhgl allemey GDIUTL (B 6TRTENEWT 2 (HeuTd: & d.

1. svrervflwi wpswm 2. urFGlFev YewM 3. soLllegi wpewm
4. ueysdluilsst ewm 5. wriagsv allaflibLy iy pewm
LT (6T 6T 2021 2022

alflewsy | Sjemey | allemsv | arey

A 2 6 2 4
B 5 8 7 4
C 6 10 20 16

3. Explain the components of Time Series.

&TeVLD Frir CsTL i euflewFuileit o misener allars @,
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